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------------------------- 
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Không được sử dụng tài liệu. 

  
Câu 1: ( 2,5  điểm)  
Cách 1: 
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Cách 2: 
Z1 = 22 25 + = 5,38 Ω 
Z2 = 22 )3(3 −+ = 4,24 Ω 

I2 = 3
vU = 30 A 

U = I2 . Z2 = 127,26 V 

I1 =
1Z
U = 23,64 A 

 P =P1+P2= 5494,25 W 
 
Q = Q1 + Q2 = 2

1I . 2 - 2
2I .3 =  - 1582,3 VAr 

 
S = 5717,5 VA 

I = 
U
S = 44,9 A 

Câu 2: (2.5  điểm)  

v IP = 
P
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Z
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= 2,54 A (0,25 ñ) 

v RP = ZP cosϕ = 30 Ω (0,25 ñ) 
v XP = ZP sinϕ = ZP. 21

φ
cos− = 40 Ω (0,25 ñ) 

v UV1 = IP . RP = 76,2 V (0,25 ñ) 
v UV2 = IP . XP = 101,6 V (0,25 ñ) 
v UV = 3 .UV2 = 176 V (0, 5 ñ) 
v P = 3. 2

PI .R = 580,64 W (0,25 ñ) 
v Q = 3. 2

PI .X = 774,2 Var       (0,25 ñ)    
v S=967,7 VA (0,25 ñ)  
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Câu 3:  (2.5 điểm)  

v Iñm = 
ñmñmñm

ñm

ηcosφU

P

3
= 58 A (0,25 ñ) 

v Imôû = 5,2 Iñm = 301,6 A (0,25 ñ) 
v nđm = n1 (1-s)=1447,5 v/p (0,25 ñ)  

v Mñm = 9,55 
ñm

ñm

n
P  = 98,96 Nm (0,25 ñ) 

v Mmôû = 1,4 Mñm = 138,5 Nm (0,25 ñ) 
v ImôûY/∆ = Imôû/3=301,6/3=100,5  A (0,25 ñ) 
v MmôûY/∆ = Mmôû/3=138,5/3=46,17  N.m (0, 5 ñ) 
v MC = 0,35 Mñm = 34,63 Nm (0,25 ñ) 
v MmôûY/∆  > MC : Ñoäng cô môû maùy ñöôïc. (0,25 ñ) 

 
Câu 4:  (2.5 điểm) 

Idm = 
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Ikt = 
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* Cheá ñoä maùy phaùt 
Iưmf = Idm + Ikt = 41A. (0,25 ñ) 
Eưmf = U +IưRư = 254,1V. (0,25 ñ) 
* Cheá ñoä ñoäng cô 
Iưdc = Idm - Ikt = 39A. (0,25 ñ) 
Eudc = U -IuRu = 246,1V. (0,25 ñ) 
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 = 774,8 v/p (0,5 ñ) 

* Pdt = Eudc* Iudc = 9597,9W (0,25 ñ) 
                 * Mñt = 9,55 
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P  = 118,3Nm.  (0,25 ñ) 

 
       

 
 
 
 
 
 
 
 
 
 
 
  


